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What is this different from - 591 9912 5790 1¥9maT JINT X7 NI INRY
this which we learnt; one who exchanges a cow for a donkey, etc.

OVERVIEW

The X3 challenges s'1"1 ruling of (of 3"X75 by X27X) from the 73wn of 715 7o
Tmna where the ruling is 171 (and not 3"x72)." From the fact that the X7nx
challenges 1"1 from this 71wn, it would indicate that the X973 maintains that we rule
PP by Mmna a0 ahnn. Generally the ruling of Y2171 is ascribed to 01210,
however the 0251 maintain X7 1Y 17°207 R0, Our MoOIN rejects the notion
that we can derive from the X713 here that the X713 assumes that we follow 013110
and not the onom.

MooIN cautions:
— 119990 799911 DIV NAYNT ININI NINNY PN

We cannot prove from the X723 here that the 715%7 is like n>219, since the X3

challenges 1" from this ruling -
= NINNT APIN I IPTINT DIUM NIN (x,7 41 xvsn xa2) INIWNA DND 109 259 NY NS 191

For the only reason the 232517 there argue on 12210 is only because the oo
maintain that we rule according to the ‘possession of money’ -

— Y5097 11 %97 INY XA R 1IN NPINa Y90 pim
And therefore we place the calf in the presumptive status of its original owner,
however where there is no X»p X7 npin (as in the case of X27X) the 0’221 (would
seemingly) admit that the ruling is 1p¥om.*

' The case there is where the individual owners of a donkey and a [pregnant] cow wanted to exchange their animals.
It was accomplished through the 13p of 1°9°%n. The initial 7797 Yv2 made a 75°wn in the 7mn, so now the animals
belong to their respective new owners. The 775 was not present when the 72'wn was made, and when its new owner
came to retrieve it, the 779 had already given birth to a calf. However we do not know if the calf was born before the
117 was made, whereby it belongs to the initial 77977 v (for the exchange was only for the [entire] 779 but not for
the calf), or if it was born after the 3 whereby it belongs to the new 777977 9v2 (the initial 2n7 9¥2). The 7awn rules
1712m; the value of the calf is divided between the two. The X3 there concludes that the fawn follows the ruling of
012210, who maintains that 7°P2I1 7502 Yuman 1.

% The n"a7 M7 amends this to read, npIma g2 RPN,

3 The Xaa there (seemingly) rules that if the calf is found in the property of either owner, that owner is the Pt and
acquires the calf (even according to 019210 [see '01n there 877 77"7]). The np17nn between 019110 and the °»om is where
the calf is found 02 (in no-man’s land), where M2»10 maintains 771> and the 51 rule that since the initial Hva
71977 is the Xnp 8 of this calf (when it was a fetus) therefore ;7"'vnn and it is awarded to the initial 7797 9v2.

* moon is saying that in the X" (before we differentiated between X27X and 2r2 779 7°9ma7), there is no reason for
the 051 to argue with 0120 in the case of X27X; for since by X217 there is (no P11 and) no X»p XN, the 2MdN
would seemingly agree to 01920 that 1217, In any event there is no proof that the 7377 is like 01910 where there is
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mooIn anticipates a difficulty with his assumption that the 715217 is not like 019m10:
— 01912701 2515907 9199 0231 231797 PHN 13N MMIND 23) (0w X320 971npY) AN NN 191912

And in n°2m nR 2227 P19, regarding one who said, ‘give a portion [P%r7] of my

assets to him’, etc.” where the X7n3 cites a ruling from ®g12210 -
— 5399 IN YNWN NN INX DY RPODN PIYNT DIVN RNYVT 7DI0NDN YD)

And the 0"2w" there explains that the reason we give him a fourth is because

there is a doubt as to the meaning of p%n; is it a minuscule share, or is it half -
— 91912105 N9501 yYN 19 OX *PHYIN PV YN M)

Therefore, we divide the money which is in doubt; it therefore seems that the
129 is like 21979 (not like MooIN presumes) —

mooin replies:
— My5349 590 PINT DIYN RIN DIVIPN YD1 RPIOD DIVN IND NNYVT MINTH U

And this proof can be rejected, for the reason he receives a fourth is not because
we are in doubt as to the meaning of pon as the 0"aw" explained, but rather

because the word p%n (usually) is accepted to mean a fourth. Therefore there is no
proof at all from that X3 that we rule 12171 like mamo.

mooIn until now rejected two possible proofs that the 17097 is like 0130, Now nooin will rule
definitely that the 7397 is not like 919110 regarding 1"P217 P02 PV PNA.
— Prsnma 830 19 000 Cmmipn 115537 23 Y R 919109 199N PNT AN
And it is the view of mooin that the ;72%:7 is not like 2127219, even though that in
many places the Xin (of the 71wn) states the ruling anonymously like 0120 -
— (w1 7 Nmp Na2) 9N W 19991NT 13999 HNINY 930 N

(either a p1n or) a ®np X, for then the 75777 would be 7"yni. [The Xnx concludes that by ®27X [both] ©13m10 [and
the o »or] agree that we rule 3"X72.]

> The man who bequeathed this amount died, and the heirs want to minimize the amount to be given to this person.

6 p19m10 there rules that if one said give a pom of my wine (that is in my pit) to him, we award him a fourth of the
entire wine in the pit. *0°p 72 X127 said that the same ruling applies when one says 033 17257 P%m 1n.

7 See 0"awn there 019110 7"

¥ The word »9n is similar to the word 171> which means to divide (in two); half for each.

? We are in doubt whether to give him a y7wn or half, we therefore split it and give him a fourth (and a ywn?!).

' According to the onan, the heirs who are the 2°p1mn can claim that he deserves only a 7w, and 7"y»7.

'" The X cites the ruling of 01910 by the wine to prove that pr means a fourth, but not that he receives a fourth
because we are unsure what P> means.

2 See the aforementioned 73w in YXwa and the 7wn in 7797 DX AW MW, see immediately following.

"> When a ruling is stated anonymously (ano) we usually follow that ruling (especially in a 73wn); the fact that it is
stated ono indicates that this is the accepted ruling and not merely an individual opinion.

' There is an accepted principle that the 71997 is according to ?Xmw in monetary issues ([even] when he argues with 27).
'> The nwn there states that if (we know that) an ox gored a pregnant cow, and a dead fetus was found beside the
dead cow; however we are not sure whether the fetus was aborted spontaneously (so the owner of the ox is not
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For ®Xm»w maintains like the 2°2om, as the X123 states in the beginning of 1o

1921, that -
— %915 1972 9912 HH9 NT DXIMIN 099N AR DIANID 3937 1t HNIIY NN

bXw said this is the ruling of o122 (that 171777°), However the 2°221 maintain,

‘this is the great principle in ruling, etc.’, that 777 159 1amm xoxmn. '
— 119 X920 89 79t ynwn

It appears from the wording of X% when he said 019110 °127 11, meaning, this is
the ruling of 019210, but 7% does not agree with it.

mooIn anticipates a possible difficulty with his interpretation of "'
— b NYIADT 1T NIINT (0w 8,0 97 10ps) TN %2 D993 N9INT 23 YY 9N

Even though it is evident in 915 n°2 P92 that the word 7 is used (even) when the

user agrees with the ruling, so perhaps here too when X said 919210 ™27 11, it means
that XMW agrees with M>mo; MvOIN rejects this for -
— Y155 N992D XY 1T ON0 YN

Nevertheless generally 17 indicates that the user does not agree with the 17 statement.

mooin offers an additional proof that XMW maintains 71"v»:1 like the oomon:
— NN 999 NYD 1972 9112 59 AT 993 IN (4,1 97 xnp xa3) BN PIIVINDT P

And in addition, the X713 states there, we can also say that the phrase %173 %2 17

1973, is teaching us in this case -
— 25515 1133 NN 19525 NI 1901

liable) or did the goring of the ox cause it to abort (in which case the owner of the ox is liable); the ruling is 1171,
the owner of the ox pays half (a quarter) of the damages (by a on W) to the 77971 %v2.

'® According to the omom the w1 9v2 is completely 1105, unless the 7197 %¥2 can prove that his ox caused the fetus
to abort.

"7 The word "1 (‘this’) lends itself to be interpreted in a limiting fashion, allowing us to infer that only 912110
maintains 2171, however ?RW agrees to the 0°non that 7"'vnn

18 The xm3 there cited a statement of 011 12 ™27 7 XMW X " and asked can we say 2 X7°20 K71 7, but we know
that he does agree. The X3 concluded (that in this case) it is 7% 872207 .

' This is evident from the fact that the x»3 there initially assumed there that /"% X7°20 X111 (see previous footnote #
18); it was only because there was a contradiction that we are forced to say there 7°2 7°201 17, however elsewhere we
assume 7°? X7°20 K21 17.

0 When X1 stated that the 0°»31 argue with 012210 and maintain 7"v27, he prefaced it by saying that the onom say
(that 7"vn7) is a 172 7172 993; the Ra gives two explanations why it was necessary for 7XmWw to make this preface
(one explanation is that 71"y is effective even in a case of X1 >72). NBOIN is discussing the second explanation.

! The case is where the buyer claims that he bought the ox for plowing, and since it is a goring ox, it useless for him
and he wants to return the ox and receive his money back, while the seller argues that he assumed the customer
wanted the ox for slaughtering, for which it is perfectly suitable. There is a dispute between 27 and X in a
situation where a majority of people buy oxen for plowing and only a minority buys oxen for slaughter. 27 rules we
follow the majority and the sale is void. P&mw rules that we do not follow the majority when it comes to monetary
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Where one sells an ox to his friend and it turned out to be a goring ox, etc.
— NN T 195201 NISINNT 1329IN 193NT MY 99992 1929R D11 D5 Nt ynpwn

It seems that 71"'v%:7 is a 173 92 even in the case of 11°an% 22 22, where there is

a 211 which contradicts the 73"vn5, so therefore -
— NN DY 19%2N1) NONINN ININY 9207 1229 DIMNIDT NNNMDIa 22]:\0 Y5

In the npyon» between 21921 and the 3139, where there is no 211 opposing the
PN, there HR1w certainly maintains 77"'var.

mooin offers an additional proof the Xvw agrees with the o°non that 7"vnn:
— DVIANP (N3) PNNNN M7 OV 3,37 97 XIS N23) 2oxwn 799212

And similarly the X773 in ®Xw:7 P9 states -
— PINNR PYUYIN PYNI PYUY 019N IN 19 NPaDN INMYY

That 5812w was in doubt whether we accept the initial statement (of 3>71>7 2"

M) and he is Mo for the Mavi wnn, or the concluding statement (of wnn> 7)
and he is 211 for the M2v3 w1 -
— 719K XN 1IWY TANA SINPT (0w 3,3p 91 PIINM)

And the mwn which relates regarding one who rented a bathhouse in >915% -
— YINY ANT 999 MIVY DXAINT 2//9)

For twelve 2521771 for the year at the rate of one golden 2157 per month -
— MAPN YN DX IPIYN 19R) Y01 2291 INY) 12 PINY 129 299 NYUYNM NI

And the story came before >''" 3""2w9 and they ruled; ‘they should divide the

leap month’ -
— YINN Y8NNI N2 ININY 2P

And Rw»w established this ruling (of 1212m°) to be valid only if the landlord came

in the middle of the leap month to collect his rent -
— 4915 1915 WA 103 PHURY 1D YR NYHNA YaN

However if the 7°>wn came in the beginning of the 12y wTn, the entire month’s
rent would be due to the =swn; if the 7°>w»n came at the end of the month it

belongs entirely to the 922 (he need not pay for the extra month). -
— 21 903 Y9INT 19399 93D NAYN

issues, and the rule is that the sale is valid since 7"ynn. The X713 says that when 9Xmw said 172 9173 995 1, he was
referring to this case, that we say 1"¥n77 even when it is in conflict with a 217.

2 See “Thinking it over’.

3 The mwn there is discussing a case where a landlord rented out his bathhouse for ‘twelve 0117 for the year at the
rate of one 12°7 per month’, and it turned out to be a leap year of thirteen months; is the renter obligated to pay rent
for the extra month (since the owner concluded a 717 per month) or since he initially said twelve 0117 for the year,
the renter is not obligated to pay for the leap month. There are various opinions in the X713 there.

** soxmw ruling will be understood if he maintains 7"y»7, meaning you cannot make someone pay or change the
status quo without proof. In this case where the 7°5w» wants his rent and the 75w wants the premises for the extra
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It is evident that X1 agrees with the 3327 that we follow the ;1P -
— 21515 193y Y93 019D

For according to 1220 they would divide the rent in any event (no matter when
the 7°own came).

mooin offers additional support that we rule 71"y and not 171
— NP YUY NPINA YPIPT 0NN 9INPT 19295 23 930 19N 29

And 1'"'1 also agrees with the 1239 (that we rule 77"v77), for 1" rules there (in the

case of the M2y w7n) that land is always in the possession of the owner -
— 409 Pax 19598 °959unY 1915 YIND 9103 K2 199N)

And therefore even if the 7°>w»n came at the end of the month, the entire

month’s rent goes to the 9°>wn, and even if the order was reversed -
— PRI 1YY SUPN RYT DNV YPIN DNNT PN 13393 9207 RNIYV 1391 TN I

And perforce you must say that the reason for s'1"1 ruling is because he agrees
with the 3129 (that 7"vnn, and since RXn»p 7°%¥2 npa ¥pap), the 0w is always
considered the XX, and 11 will establish the /mw» there (where >"71 2"2wA rule
?17m°), according to 915238, in order that 1"1 should not be contradicted from

the mawn.
— 93972 19 NP 119N 2999

And it is established that we follow 1''9 in monetary rulings.

mooIn shows that we rule specifically like 1" regarding &»>p 7°9v2 npTRa vpop:
— (%P 97 XN N22) JAPND P92 NN )IPU NN

month; the 9212 is the P17 in the money, and the 7°2w» is the prmn in the property. If the 7°Own comes after the
month is over and wants to be X*X1 money from the 12w (the prmn), he must prove his case; if the 7">wn comes in
the beginning of the month, and the 75w wants to be there another month (and take away the rights of ownership
from the 7°5wn) the burden of proof is in the 721w. When the 7°2wn comes in the middle of the month, so the half-
month for which the 121 was there, the 7°5wn is the X°Xn, and for the half month the 12w wants to continue living
there, the 127 is the X°¥ and must pay for the last half of the month (\p171).

» D19m0 maintains we do not look at the 111 nptn, but rather in any case where there is a P02 S0 1Y, we rule
Pn, regardless of who is the prmw (for in the view of 01910 the fact the someone is in possession of the money
does not establish at all that he does not owe it). Therefore no matter when the 7°2wn came, there is a legitimate
doubt whether or not the 1% owes him the money, therefore in all case we rule 17

6 See *"wn there 1" 7"7 who states: TAYm TN WINT NN KOR TN PWIY XY pOOIW 17w 1213 WINT MO K2 1K)
7w 12 YYD XY 1an Hwa 27w RN 0P v ypap. The issue here is whether, at the beginning of the v wmn,
the 72w had a right to be there (without paying, since the 1°5wn said mw? 2°2171 2") or did it revert to the 7°own
already (since twelve months had passed from when the 7"5wn said w72 277, and the 1w paid [only] 2°237 2™), the
issue is resolved (according to 1) in favor of the 2°wn, since X»*p °%v2 NP2 ¥PpP (and it is a PO 7212w NR? XOON).
z According to 1" it makes no difference whether he first said, 73w% 0°2177 22 and then concluded wTin? 1173, or
he first said % 11°7 and then concluded 73w 202377 2", in both cases it is 7°9wWn? 1713, According to 1", since it is
a poo whether we maintain (elsewhere) WRA WY 01BN or AR NWH 019N; we rule RHMP 7°HYa NP YPIp.
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And we rule explicitly like?® 1" in Dapw P that x»*p 7°2y3 npma ypop; this is -
— NAND 02V N1 22N NINT RIVVY NN )

Regarding that =uw, where it was written an unspecified amount of ‘years’® —

moYIN anticipates a difficulty with his view that the 71377 is like 1" regarding Mavn wnn:
—9MIYNA INTNI 12 PPNIY 1295 1D NPT ) DY 9N)

And even though we have established that the 71277 is like 3"aw" in a mw», and
3"awA ruled 3?1717 (in the case of M2°yn wnn); not like 1" —

mooIn responds:
:NY 1903 29 1994 9N YaN NPNDA s9) %N

When is this so (that 1nwn2 3"awn> 7527) only generally; however [w]here 1"
argues with 3"2w (based on other °Rin), the 719277 is not like 3"2w, but like 1.

SUMMARY
The 70%7 in a case of P02 HuNAn Nnn is 1"van, and not 37171 (unless there is no
ARTR/PTIN).

THINKING IT OVER

Moo proves that the 71597 is 1"¥yni since XMWY maintains so. MoOIN derives this
that since ?X1W maintains that the rule of 7"v»i1 applies even when it contradicts a
217 (in the case of A1 X¥M), so he certainly maintains so in 7797 DX 720 W
(where there is no contradicting 211).>' Why cannot mooin simply say that since
XMW maintains 7"¥yn7 by a1 X3, this proves that this is the 75%7; why the need
for a w">?1>

¥ Previously moon stated that (generally) 1’72 1"13 9"*p, now Mmoo indicates that concerning this ruling, of ¥pap
Xn™p 7°2v2 np1na, the Xn3 explicitly states that we follow this ruling of 1.

 The case there is where a % held a (signed) 70w, that he had the right to harvest the M of the s'm?> field for
(an unspecified amount of) years as payment for his loan. The m>n claimed that it was for three years and the m?
claimed it was only for two years. The m» had already harvested the M7’ of the third year. There is a dispute
whether we say X»°°p 7°9¥2 npma ypap (and the M must return the M7 of the third year) or whether we say n1"o
Xn*p 329 npina (and the 791 does not have to pay). The X3 (actually) rules X»*>p P92 npina Mo, and
immediately challenges this ruling since N7 7°9Y2 NPIA2 YPIp IMRT 1AM 277 7°0M2 XNoYa7 2" X1, [The R there
explains why that case is different, w">v.] It is evident that the 73777 is nTW 7°5v2 npTma ypap like 1" ruled.

% The n"27 M3 amends this from X277 to X971,

*! See footnote # 22.

2 See n"ma.
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